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KANGOUROU MATHEMATICS COMPETITION 2024-2025
AIATONIZMO2 KANGOUROU MAGHMATIKA 2024-2025

1. Mario has 6 balloons. He gives away 2 of the balloons.
How many balloons will Mario then have?
O Madplog €xel 6 pmaldvia. Alvel 2 amdé Ta Hmalovia.
Moéoa punalovia Ba £xel o MdAplog LeTq;

(A) 2 (B)3 ()4 (D)5 (E)6

2. Which of these puzzle pieces completes the picture?
Molo armd auTA Ta KOPUATLO TTOCA OAOKANPWVEL TNV ELKOVQ,;
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(E)

(D)

3. How many of the shapes shown are triangles?
Moéoca amo ta oxnuata mou daivovral ivat Tpiywva; @) 4 {V <>
) 2 (®)3 ©4 4 O
(D)5 (E) 6

4. 5 baby kangaroos are hopping to their mothers along the paths shown below. Which path is the shortest?
5 pLKkpA Kaykoupd tNSoUV TPOG TIC LNTEPEC TOUC KOTA UARKOC TWV Stadpopwv mou ¢aivovtol mapakdtw. Mota
Sladpoun lval n o ouvtoun;

(A)

(D)

b

b
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(E)
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5. How many pencils are shown in the picture?
Méoa poAuBLa dpaivovtal otV ELKOVA; >

(A)7 (B)8 ()9 (D) 14 (E) 16 « \\
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6. A large square is formed from 16 small squares of the same size. Then some of the -
small squares are removed. How many small squares are missing?
‘Eva peydho TeTpdywvo oxnuatiletal amod 16 uikpd TeTpaywva Tou idlou peyebouc.

—_—————

3TN ouvéxela adalpolVTaL KATIOLO oo Ta ULIKPA TETpAywva. MNooo HiKpd TETpAywva
Aeimouv;
(A) 4 (B)5 (@6 (D)7 (E) 8 .

7. On Michael’s toy shelf, there are no turtles, no rabbits and no robots. Which of these shelves could be
Michael’s shelf?
310 padt mayvidlwv Tou MixaAn, Sev umapyouv XeAwVec, Aayol Kol pounot. Molo and autd ta padla Ba
propoUoe va gival to padL tou MuxdAn;

(E)

8. All the buttons on Carla’s sweater look like this.
‘OAa ta kouprad otn foketa tng KapAag potalouy £Tol.

9. Two rubber bands are placed around a stack of 18 cubes. How many of the cubes are
not touching a rubber hand?
Avo Aaotya toroBetolvtal yUpw amo pia otoifa 18 kuBwv. Mdcol and toug KUBoug
Sev ayyilouv kamolo AAoTLYOo;
(A) 6 (B) 8 (©)9 (D) 10 (E) 12
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10. Aflooris covered in square tiles. There are 4 rectangular mats on the floor. In total,

11.

12.

13.

14.

how many tiles have 3 mats on top of them?
To natwua €ivol KAAUUPEVO UE TETpAywvA TAaKAKLa. Yrapyouv 4 opBoywvia
XOALQ OTO MATWHA. JUVOALKA, TTOOO TIAOKAKLA £X0UV 3 XaALd armd TAvw Toug;

(A) O (B)1 (C) 2 (D)3 (E) 4

Which of these keys fits the lock shown in the picture?
Moo amd auta ta KAELWSLA Talplalel otnv KAEWSapLd Tou GalveTal oTnV EIKOVQ;

(A) (B)
(C) (D)
(E)

A dog has 2 puppies that weigh the same. The first picture shows that the dog and 1 puppy together weigh 14
kilograms. The second picture shows that the dog and both puppies together weigh 18 kilograms. How much
does the dog weigh?

‘Eva okUAL €xel 2 koutafla mou fuyilouv to i6lo. H mpwtn ewkova deiyvel O0tL To okUAL kKat 1 koutafL padl

Tuyilouv 14 k\a. H Seltepn elkdva deiyvel 0TL To oKUAL kot Ta U0 koutaBia pall Luyilouv 18 KIAG.
Mooo fuyilel to oKUAL;

':“ '_‘“' £
,.JL.“L’J )
(A) 9 kilograms /9 kiha (B) 10 kilograms / 10 kA& (C) 11 kilograms / 11 kA&

(D) 12 kilograms / 12 kiAa (E) 13 kilograms / 13 kA&

There were 12 pieces of fruit on the table. Vera removes 2 pears, 4 apples and half of the oranges. Now there
are only oranges left on the table. How many oranges are left?

Ynnpxav 12 ¢ppouta oto tpamnell. H Bépa adaipel 2 axAadia, 4 pnAa Kot tn pion moodtnta noptokaAlwy. Twpa
OTO TPOTE{L £XOUV ATIOUEIVEL LOVO TTOPTOKAALA. MOCa TTOPTOKAALX £XOUV HELVEL

(A)1 (B)2 ()3 (D)4 (E) 6

There are 12 students in a line. Counting from the left, John is fifth in the line. Counting from the right, Victor
is fourth in the line. How many students are between John and Victor?

Ynapyouv 12 pabntég o€ pLa oelpd. Av LETPHOOULE Ao Ta aPLoTEPA, O MAvvNg Elval TTEUMTOC 0T OElpd. Av
LETprioou e amo ta 6gLd, o Biktop sivol tétaptog otn oelpd. Noocol pabntég umdpyouv Hetal tou Mavvn

KoL Tou Biktop;
e': :.b ‘{?’ !-. *’6 !::,

A o0 &
(E)5

(A) 1
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15.

16.

17.

18.

There were three books on Maria’s shelf, as shown in the picture.
First, Maria swapped the white book and the grey book.

Then Maria swapped the grey book and the black book.

How are her books arranged now?

Yrunpxav tpia BLBAia oto padL tng Mapiag, omwg paivetat otnv elkdva.
MNpwta, n Mapia avtaAlate to dompo BiBAio pe to ykpilo BLBALo.

2tn ouvéyela, n Mapia avtailage to ykpilo BLBALo pe to pauvpo BipAio.
MNwc eival twpa ta BLBALa TNG TAKTOMONUEVD;

4 >

(A) (B) (€) (D) (E)

The pictures below show the front and the back of an object built from coloured cubes.

The object is broken into three pieces. Two of the pieces are shown below. Which of these is the third piece?
OL £lKOVEC TTAPAKATW Oelyvouv TO UMPOOTIVO KOl TO TOW HEPOG €VOG QVIIKELMEVOU OTLOYHEVOU aTo
XPWUOTLOTOUC KUBOUG.

To avtikeipevo £Xel oAOEL O TPLO KOPUATIA. AUO amtd Ta KOUUATLO daivovtal mapakatw. Moo amod autd
gival to Tpito Kopparty;

()

Front

Mnpootivo MNicw

The beads on a string alternate between black and white.

Each block hides five beads. How many white beads are hidden in total?

OLxavtpeg o€ €va KopSovL evaAAAooovTaL LETAEY LOUPWV KAl AEUKWV.

KaBe kouti kpUPeL TtEvTe XAVTPEG. NOO0EC AEUKEG XAVTPEC €lval KPUUUEVEG CUVOALKQ;

(A)5 (B) 6 (C) 7 (D)9 (E) 10

Anna buys 3 chocolate bars. Peter buys 5 chocolate bars. Peter paid 8 euro more than Anna. What is the cost
of 1 chocolate bar?

H Avva ayopalel 3 cokoAdteg. O Métpoc ayopalel 5 cokoAdrtec. O MéTpog MANpwoe 8 eupw MEPLOCOTEPA OO
v Awva. MNolo eival to kK6oTog TG 1 coKoAdTAG;

(A) 1euro/1evpw (B) 2 euro / 2 eupw (C)3 euro/3evpw

(D) 4 euro / 4 supw (E) 5 euro /5 gupw
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19.

20.

21.

Harry has 5 wooden toys, as shown in the picture. He picks 2 pairs of toys so that the pairs weigh the same.
Which toy was not picked?

O Xapnc €xetL 5 EUAwva mayvidia, Onwg paivetal otnv elkova. EmAéyet 2 Zevyn mouyvidLwy £ToL wWoTe Ta {evyn
va Luyilouv 1o 1810. Nolo maLxvidL Sev eTuAEXONKE;

6g 8g 10g 1l1g 12 g
6 vp. 8yp. 10vyp. 1lvyp. 12vyp.

(C) (D)

3 years ago, the sum of Elena’s age and Simon’s age was 6 years. Elena is currently 7 years old. How old is
Simon now?

Mpwv amo 3 xpovia, To aBpolopa tng nALkiag tng EAEvne kat tng nAwkiag tou Zipova Atav 6 xpovia. H EA£vn
glval autn tn otyun 7 etwv. NMdoo xpovwy ival o Zipovag Twpa;

(A) 1 year /1 xpovwv (B) 5 years / 5 xpovwv (C) 6 years / 6 xpovwv

(D) 7 years / 7 xpovwv (E) 11 years / 11 xpovwv

Each ladybird sticker has 1, 2, 3 or 4 dots.

George wants to fill the grid with stickers so that in each row and in each column, there are ladybirds with
different numbers of dots. When George is finished, what will the top row of the grid look like?

KaBe autokoAAnto mamnapouvag €xeL 1, 2, 3 1} 4 KOUKKIOEG.

O Mwpyog B€AeL va yepioeL TO TIAEYUO E QUTOKOAANTO £TOL WOTE Ot KABe ypappn kol os kabe otAn va
UTIAPXOUV TTAMOPOUVEC e SladopeTikd aplBuo koukkidwv. Otav o MNwpyog TeAelwoel, Twe Ba paivetal n

ETAVW YPOUUL TOU TIAEYLOTOG; ~ —~ ~ ~
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22. There are 13 cubes stacked in the corner of a room. Each is coloured red or blue. <>
Directly below each red cube there is a blue cube, and directly below each blue cube
there is a red cube. How many blue cubes are in the stack? zg
Ynapyxouv 13 kUPol tomoBetnuévol otnv ywvia evog dwuatiou. Kabe kupog elval
KOKKLVOG I WTTAE. AKPpLBWG KATW armod KABe KOKKLVO KUBo uTtdpyel évag UmAe KUBOG Kal ><
OKPLBWE KATW amo kABe pmAe KUBO UTIAPXEL EVAG KOKKLVOG KUBOG.
I

23.

Moéool uihe kKUPoL UTIAPYOULV oTNnV otoifa; |~
(A) 4 (B) 6 (7 (D)8 (E)9

Andrea decides to paint each square in the shape below so that squares painted the same colour do not touch.
She paints 4 squared red, 3 squares blue, 2 squares green and 1 square yellow. Which colour did she paint the
square with the “X"?

H Avtpea amodaocilel va Bayel KGOe TETPAYWVO OTO MOPAKATW OXNHO £TOL WOTE TA TETPAYWVA TIOU £lval
Bappéva pe To (810 XpWwHa VA LNV aKOUUTTOUV LETAEY TOUG. BAadeL 4 TETpAywva KOKKLVA, 3 TETPAYWVA UTTAE, 2
TETpAywVaA TIpAactva Kat 1 tetpdywvo Kitpvo. Me molo xpwpo Badel To tetpdywvo pe to "X";

X
(A) Red / kOkkwvo (B) Blue / umAe (C) Green / npaocwvo
(D) Yellow / kitpwvo (E) impossible to know / aduvatov va yvwpilw

24,

Each time a coin is put in the machine, a ball falls at random from the bottom row. What is the smallest number
of coins Stefani must have to be sure that she will get a grey ball?

KaBe dpopd mou plyvetal £va KEpUA 0T LNXAVH, ULl UmdAa TEPTEL Tuxaia amo tnv KATw osLpd. Molog elvat o
ULKPOTEPOC APLOUOC VOULOUATWY TIOU TIPETIEL VAL €XEL N 2TEdOVN YLa va eival olyoupn OTL Ba Ttapet pua ykpila
MTaAQ;

(A) 6
(B) 10
(€) 11
(D) 12
(E) 15




